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1|lhwug pupdp wbuwlh  |lg 380 1800 684000
2|pnylih hun 50 1500 75000
3[phawdpuipihpe g 1200 130 156000
4[Jwdih g 1200 70 84000
5[suuhs g 1500 5 7500
6 Uwljupnt g 300 200[ 60000
7|Jtpuhoky lg 300 100 30000
8[jwuow g 300 100 30000
9|pphid lq 400 150 60000
10[nuy Uq 750 100 75000
11[auw]up g 280 50 14000
12 (hunuwdwdup lg 500 90 45000
13|gnphiwdwiuip g 300 50 15000
14|qupkdwdup lg 350 20 7000
15[hwdup U 350 120 42000
16 [pinnip lg 400 40 16000
17|uhutin lq 1000 90 90000
18 {wphownw lg 900 80 72000
19|inph hwunhly g 1250 30 37500
20[nynn Gutus g 400 30 12000
21|nnn nkinht lg 400 30 12000
22 |dwbnit/950q./ unnith 520 500 260000
23|ppduutp/400g./ untth 550 400 220000
24|wwlihp |nnh lg 2200 80 176000
25|fawnwgpud Juip/350q./[nnuh 450 80 36000
26|juplwonn/180q./ untth 450 40 18000
27|dhu hudh wknuiut (g 1550 150 232500
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28| /inknuljuty/ g 2200 100 220000
29|jwpwg /unp. 2k./ lg 3700 200 740000
30{pniuwljuils jnin 1hwp 650 220 143000
31[jniy lq 1500 10 15000
32|unypbn g 1600 100 160000
33|ynutn wyugud lq 3300 2 6600
34|owpupuyuq lg 390 80 31200
35|huinphs/100q./ wnth 200 5 1000
36|wynip pupdp wkuwlhllq 250 30 7500
37|hudh dnt huwwn 60 1000 60000
38|ykpwlnh wn/1000g./ [wnnith 180 50 9000
39[Umithyhtt/20q./ nnith 100 30 3000
40| pwpuinh thnoh/100q./ |[nnith 300 10 3000
41|quithtint nkpli/25q./  [nnith 100 20 2000
42 |juljun/25q./ uintth 100 5 500
43|huukih unilitjh/20q./  |wnnith 100 40 4000
44|ytpwlph unqu/1000 |wnith 250 100 25000
45|4hut)/220q./ wnnith 450 400 180000
46[ok Uq 1350 30 40500
47|dbknp lg 400 4 1600




